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2AM:

I 0AIE U 25
chel: OjA=X| B2 (CHol: xol)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
02 QIZHBAANSBEE 19,000 67,000 A48,000
HESE L WA 3,000
5070 SUEd R2|wal 10,000
H&otaol 24 6,000
04 QIZISHAIAIRE X 6,800 26,800 A20,000
T dHGSF2 JIEUE &It 6,800
11 M3I=EXAIEEXR 5,000 5,000 0
AEIEE (=2 A 5,000
Pt dHES WS 9,054 8,373 681
= 2,716
Al 6,338
201 L2 3FH| 9,054 8,373 681
& 2,716
Al 6,338
01 At22t2ld| 9,04 8,373 681
AHES s AE & S8 9,054
& 2,716
Al 6,338
ol AtSIEN XI&A 57,440 57,170 270
307 QI2H0| M 57,440 57,170 270
03 QIZHHHE2IHIEE 46,440 46,170 270
o&atxgels 249 46,440
- EHE QS 21| 33,240
-0 AEHME S 29| 13,200
11 MaI=XAIEES 11,000 11,000 0
ZS0(2IX KNSE= AFY
1,500,0002 %23 3,000
oEgadst = 2,000,000 *43] 8,000
GEolEligdy 2gXA 391,410 288,870 102,540
& 117,423
Al 273,987
307 SI2t01 & 391,410 288,870 102,540
& 117,423
Al 273,987
10 AR SXNAIEEE2IHIE X 391,410 288,870 102,540
& IZIHMIEH 2I XA 391,410
= 117,423
Al 273,987
MHEH XIE329 461,858 417,079 44,779
= 311,470
= 51,557
Al 98,831
307 QI2H0| M 461,858 417,079 44,779




2A: JIEEXI&
BH: 08IlE U 28
o9l dd=N S (Cro: ®ol)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
s 311,470
& 51,557
Al 98,831
11 MaI=XAIEES 461,858 417,079 44,779
MLHE XE2H 461,858
s 311,470
& 51,557
Al 98,831
MHE SAEA MSLIEEl XI& 19,320 19,320 0
& 5,79
Al 13,524
307 212to1™ 19,320 19,320 0
= 5,796
Al 13,524
10 ALSIZ XA EHE2IHIE X 19,320 19,320 0
MHE SAKH M<LIHSH! X 19,320
= 5,796
Al 13,524
= XA 5,683,559 8,000,445 A2,316,886
= 1,012,507
| 2,280,408
& 707,447
Al 1,683,197
A=ESAd 2E XA 17,000 17,000
307 212t01™ 17,000 17,000 0
10 AR SXNAIEEE2IHIE X 17,000 17,000 0
SESAE 2GR 17,000
2SI 2E(BX) 23,269 23,269 0
= 6,981
Al 16,288
307 212t01& 23,269 23,269 0
& 6,981
Al 16,288
10 AR SXNAIEEE2IHIE X 23,269 23,269 0
ST 2E(EX) 23,269
& 6,981
Al 16,288
IHEZSENMNES 2GR 51,740 42,800 8,940
307 212t01& 50,200 42,800 7,400
10 ALSIS XA EHE2IHIE X 10,200 4,800 5,400
HEJIESESEAGEHE AIRA Xtz 10,200
11 AISIS XA E S 40,000 38,000 2,000




2AM:

JHESXIA L

I 04IS Y 28
= R e k= (Ctol:®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
IERIN1Z2S AREZ2 I 10,000
e, 428 fgus & =221 25,000
2XF BXUIoH Ol Y KIF A 5,000
402 212tXH=01H 1,540 1,540
01 BIZ A= ARG B (KFHITHA) 1,540 0 1,540
HEIIEdSEAEdH tAIS3FH 1,540
HEd=e g 28 N2 267,700 214,418 53,282
Jl 133,850
= 66,925
Al 66,925
307 212t01& 267,700 214,418 53,282
7l 133,850
= 66,925
Al 66,925
10 ASISXAANEHE2EEIEX 267,700 214,418 53,282
e - 4E54EA 23| 232,797
Jl 116,399
& 58,199
Al 58,199
WHIE HohAt X 34,903
Jl 17,451
& 8,726
Al 8,726
JHEEE Lok XsesE2 08 2,043 2,918 AB75
Jl 1,429
& 307
Al 307
307 eI2t0| ™ 2,043 2,918 A875
Jl 1,429
& 307
Al 307
11 ARRISXIMEEES 2,043 2,918 A875
JHEEE Ik Xzzs =220 2,043
7l 1,429
= 307
Al 307
=LA 2l2H| A& 1,600 1,500 100
7l 1,120
= 240
Al 240
307 212t01 ™ 1,600 1,500 100
7l 1,120
= 240




2AM:

.

JEXIA1L
HdIE & 25

= R e k= (Ctol:®2l)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2

Al 240

11 MaI=XAIEEX 1,600 1,500 100
S=ZSTIoHAE 2l=H| K& 1,600
| 1,120
= 240
Al 240

OE=SE2AAE SAHA 1AEl =IO 68,767 67,590 1,177
& 20,630
Al 48,137

307 SI2t01 & 68,767 67,590 1,177
& 20,630
Al 48,137

10 AR SXNAIEEE2IHIE X 68,767 67,590 1,177
OAZEZH2UAANE SARE QIAHIFIKIA 68,767
= 20,630
Al 48,137

HEZH2HANE SAR "<& 9,890 9,720 170
& 2,9%7
Al 6,923

307 SI2t01 & 9,890 9,720 170
& 2,9%7
Al 6,923

10 AISISXNAIEEE2IHIE X 9,890 9,720 170
HEZS2AHAE SA HSIHEHI 9,890
= 2,967
Al 6,923

HEZH2ANE SAK Uz 4| 5,130 5,040 0
= 1,539
Al 3,591

307 QI2H0| M 5,130 5,040 0
& 1,539
Al 3,591

10 AR SXNAIEEE2IHIE X 5,130 5,040 0
HEZS2ATAE SAHLG ZHSAH| 5,130
& 1,539
Al 3,591

ZSTIoH0IS XGSESIH LA ArY 10,500 12,750 A2,250
= 3,150
Al 7,350

307 QI2H0| M 10,500 12,750 A2,250
= 3,150
Al 7,350

11 MII=XAIEER 10,500 12,750 A2,250




2AM:

.

JEXIA1L
HdIE & 25

= R e k= (Ctol:®2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
JHE, 8238 HIoits NGeEsitdd &85
ZHefAr 10,500
= 3,150
Al 7,350
CIXNEL=S Tkt HEA=2E 2 delXzt 23 665 809 A144
& 200
Al 465
307 212t01™ 665 809 A144
= 200
Al 465
11 AISIS XA E S 665 809 A144
CIXE8= TOlohAt AMelXSE 29 665
= 200
Al 465
IIEHH 29 279,800 431,801 A152,001
201 23| 18,300 4,000 14,300
01 AtR2elt] 13,300 0 13,300
JIEHEH A2 RA2A2U(A2E 7)) 13,300
02 2224l 5,000 4,000 1,000
JIEHE AlEE SXIZel(XEA) 5,000
307 212t01& 261,500 121,801 139,699
10 ALSIZ XA EHE2IHIE X 261,500 121,801 139,699
JIEEIH Al |XI, 2l 261,500
IIBHEH2E(BX) 933,700 446,537 487,163
| 466,850
= 140,054
Al 326,796
307 212t01& 933,700 446,537 487,163
| 466,850
& 140,054
Al 326,796
10 AR SXNAIEEE2IHIE X 933,700 446,537 487,163
=4 29| 933,700
| 466,850
& 140,054
Al 326,796
121017 XI&AHS 10,000 20,000 A10,000
= 3,000
Al 7,000
307 212t01& 10,000 20,000 210,000
= 3,000
Al 7,000
11 AISIS XA E S 10,000 20,000 210,000




SN JFETID
M IR U 28

e S A (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
100t X3 10,000
& 3,000
Al 7,000
JIEHIE SAHAE 2148 SIS 16,080 16,080 0
= 4,824
Al 11,256
307 212t01 ™ 16,080 16,080 0
= 4,824
Al 11,256
10 ASISAANEHE2EEIEX 16,080 16,080 0
JERHIE SAEA 2124H] FIHXIE 16,080
& 4,824
Al 11,256
JIEHE SAEL MM 28,080 28,080 0
= 8,424
Al 19,656
307 2I2t01™ 28,080 28,080 0
= 8,424
Al 19,656
10 ASISXAANEHE2EEIEX 28,080 28,080 0
ISR A M4 28,080
= 8,424
Al 19,656
JEEHIE SAHL EHZAH| 13,251 16,800 A3,549
& 3,975
Al 9,276
307 2I2+0| ™ 13,251 16,800 A3,549
= 3,975
Al 9,276
10 ASISAANEHE2EEIEX 13,251 16,800 A\3,549
JERHIE SAHAL U5 4AH| 13,251
= 3,975
Al 9,276
th=22htd X1 40,000 40,000 0
307 2I2+0| ™ 40,000 40,000
11 MBS AIAMEE X 40,000 40,000
22012 2 =0 u= 25,000
Ct23t QAN SHeteAb 15,000
ChEsttd &2 & e 144,005 288,610 144,605
Jl 68,925
& 26,832
Al 48,248
307 2I2+0| ™ 144,005 288,610 A 144,605




SN OEEXED
3 EIE=E & BR
ol O A (Crel: me)
SA - HH - SR(EH) - HRA ofl e Gl imE=T
Jl 68,925
= 26,832
Al 48,248
11 ARRISAIAMEEES 144,005 288,610 144,605
23t Satate 128,505
Jl 61,175
= 24,507
Al 42,823
ZE0|12A SSHSA2 15,500
Il 7,750
S 2,325
Al 5,425
CHEsE dSIH A 92,667 92,667 0
= 27,800
Al 64,867
307 212t01 ™ 92,667 92,667 0
& 27,800
Al 64,867
11 ARRISXIMEEES 92,667 92,667 0
Ct23t S S 92,667
& 27,800
Al 64,867
SSE0L=H 29 58,244 56,712 1,532
Jl 29,122
& 14,561
Al 14,561
307 2I2+0| ™ 58,244 56,712 1,532
7l 29,122
& 14,561
Al 14,561
11 ARRISXIMEEES 58,244 56,712 1,532
SSF0L=sH 2¢ 58,244
7l 29,122
= 14,561
Al 14,561
NCHEZ 312D 18,900 18,900 0
& 5,670
Al 13,230
307 2I2+0| ™ 18,900 18,900 0
& 5,670
Al 13,230
11 MBS AIAMEE X 18,900 18,900 0
NITHSZ 1L 18,900




2AM:

.

JEXIA1L
HdIE & 25

S O A9 (Crel: me)
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2

< 5,670
Al 13,230

OtoI==SXIE 1,431,438 1,500,500 269,062
= 1,002,007
< 128,829
Al 300,602

307 212t0|& 572,468 572,468 0
= 400,728
= 51,523
Al 120,217

11 ARISXIMEEE 572,468 572,468 0
Ool=2s 22| 572,468
= 400,728
= 51,523
Al 120,217

308 MAIHHSOIA 858,970 928,032 269,062
= 601,279
= 77,306
Al 180,385

13 SI 2 SOCHEHE A E ST AL ] 858,970 928,032 N69,062
oolss XN 858,970
= 601,279
< 77,306
Al 180,385

SIRERIEE ML= & N 1,962,190 1,710,000 252,190
| 1,569,752
< 196,219
Al 196,219

301 LEIEES 1,962,190 1,710,000 252,190
| 1,569,752
< 196,219
Al 196,219

01 Al 2& X262 (2 NEXTH) 1,962,190 1,710,000 252,190
SHREIE It 2= 1,962,190
J| 1,569,752
< 196,219
Al 196,219

HAE eRIAEHIA 11,700 16,000 24,300
Il 9,360
= 1,170
Al 1,170

301 LEIEES 11,700 16,000 24,300
Il 9,360




2AM:

JHESXIA L

I 04IS Y 28
= R e k= (Ctol:®2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
< 1,170
Al 1,170
01 A2 E4FS (R NEXTHR) 11,700 16,000 24,300
4@ 22 S50 11,700
7l 9,360
= 1,170
Al 1,170
HAHERR Ots2=FHl X 21,000 22,032 /1,032
= 10,500
= 3,150
Al 7,350
301 Et2AS 21,000 22,032 A1,032
= 10,500
= 3,150
Al 7,350
01 AR 2E X3S (FLEXTHE) 21,000 22,032 A1,032
FAERD Ols¢=| 21,000
= 10,500
= 3,150
Al 7,350
NASSREIE daotd X2 150,000 213,500 263,500
= 37,500
Al 112,500
301 Et2MS 150,000 213,500 263,500
& 37,500
Al 112,500
02 ALRI2EE LGS (FIAAS, XL 150,000 213,500 263,500
SIS MEOHE AR 150,000
& 37,500
Al 112,500
SIRERIEE UM Yss N 5,000 4,500 500
= 2,500
Al 2,500
301 Et2MS 5,000 4,500 500
= 2,500
Al 2,500
02 AR 2ZELFS(FHAAS, NLEWE) 5,000 4,500 500
SRS HH HssSs A2 5,000
& 2,500
Al 2,500
orolE=sNE 5,100 0 5,100
307 2I2+0| ™ 5,100 5,100
11 ARISXIMEEES 5,100 5,100




SN JFETID
M IR U 28

e S A (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
[ OISEDl FNAR 220 5,100
=4 Z20 SSAEHH 75 222 4,100 0 4,100
308 RIXISHHISOIA 4,100 0 4,100
07 XXIEHIRE 2 4,100 0 4,100
=4 =00 SSASHH 75 223 4,100
BSAE 29 25,009,543 23,644,391 1,365, 152
= 9,883,834
z 19,000
= 7,211,298
Al 7,895,411
2% olmgt 2= 53,000 56,000 3,000
201 LBr2 | 5,800 5,800 0
01 AFR2r2lH] 5,800 5,800 0
B3 EF 100,000 %18 1,800
ESNUIAT 2% U MALE S 4,000
301 LPtENZE 3,000 3,000 0
T EE] 3,000 3,000 0
2NNV S0ISHE &It
30,0002+ 10013 3,000
307 SI20IA 44,200 47,200 23,000
02 QIZFAAAI B E 4,000 4,000 0
EELIRCEIME 4,000
04 QIZFHAPAII B 10,200 10,200 0
25019 gt 10,200
06 282 30,000 33,000 A3,000
U201 OHEZTRIE B8t 30,000
OHE0IE Ras42 SAY] 48,750 56,250 7,500
206 24| 48,750 56,250 7,500
01 M2l 48,750 56,250 A7,500
B0 Res42 YR
15021%1,3002%2502 48,750
LN 0121012 XIe 21,500 22,500 A 1,000
307 91210/ & 21,500 22,500 A 1,000
NEENEEEEEEEES 21,500 22,500 A 1,000
BILH L2020/ L]
500, 0002 %437 2%15] 21,500
O2l0IE SXsEtl X 100,000 130,000 30,000
307 SI20IA 100,000 130,000 30,000
TEESINCEEES 100,000 130,000 30,000
O2I01& SEssH|
100,0002*1,000% 100,000
ORI 012101F X 3,600 6,000 2,400
307 91210/ & 3,600 6,000 2,400




SA: JIEX
HM: OEIIE ¢ 2]
S HESAIE 29 (cHol: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
EENNEEEEEREES 3,600 6,000 22,400
ORIHEE 021017 29
300,000+ 1274 Ax13] 3,600
NENEIEEREERE R 957,040 1,000,032 N42,992
301 Y2 A S 470,400 492,000 A21,600
14 J|EtE A2 470,400 492,000 A21,600
DIZIDME SHl AL H RN
100,000 134 *12& 160,800
O12I01% SHAMAF M|
100,000 %258 * 122 309,600
307 2I2H0| & 486,640 508,032 N21,392
11 ALBIZ XA E X 486,640 508,032 A21,392
QIZOIA O2I0IE) SHAMAL Q124H| X
395,00021%112%*1 12 486,640
012I01& X2 XY 36,000 36,000
307 212+0|& 36,000 36,000 0
10 AFBIZXAISHE2HH B X 36,000 36,000 0
HEQRI0IE 28 QI
1,500, 0002 % 1)H A% 123 18,000
SO0IE(S - M)XK Ol2I01E 22 oIA]
1,500,000 %24 A6 18,000
ERRNENSISIEEED 10,000 20,000 10,000
201 L2 A 10,000 10,000 0
02 222%H| 10,000 10,000 0
Z2I02I01E AIAEHISX]
1,000,0002 % 1074 A 10,000
I g4 X 89,484 374,390 A284,906
= 58, 164
[ 15,660
Al 15,660
301 YRHEAS 89,484 374,390 A284,906
= 58, 164
[ 15,660
Al 15,660
01 AIBIEREAFS(ZDEXTHR) 89,484 374,390 A284,906
pIrSEeli=R= 89,484
= 58, 164
[ 15,660
Al 15,660
2230{(Forrg) X 3,809,652 5,264,304 A1,454,652
= 2,476,274
[ 666,689
Al 666,689
301 YB3 3,809,652 4,964,304 1,154,652




LKL
VESERENEE
ZEANE =3 (Ctel: o)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
= 2,476,274
= 666,689
Al 666,689
01 AlB|2E X3S (22X 3,809,652 4,964,304 A1,154,652
SIS0 (E3) X 3,809,652
= 2,476,274
= 666,689
Al 666,689
020y 28X 148,967 108,814 40,153
= 74,483
& 37,242
Al 37,242
307 2I2+0| ™ 148,967 108,814 40,153
= 74,483
& 37,242
Al 37,242
11 AMBISAIAMEE X 148,967 108,814 40,153
WA -Hl XA 26,948
= 13,474
& 6,737
Al 6,737
g2t X2 63,704
= 31,852
& 15,926
Al 15,926
SHELSM 8ol 15,951
= 7,975
& 3,988
Al 3,988
=4 AY 22 NEs 42,364
= 21,182
= 10,591
Al 10,591
IR0IE2FRE XN 6,129,716 5,712,353 417,363
= 3,984,316
= 1,072,700
Al 1,072,700
307 2I2t01 ™ 20,000 20,000 0
= 13,000
= 3,500
Al 3,500
11 ARRISAIAMEELS 20,000 20,000 0
ANZAZESZ 14,000




2AM:

X3
Q

Ji

M owzr e

S ZENE 29 (Crol: z2)

SA - HH - SR(EH) - HRA ofl e Gl imE=T

= 9,100
= 2,450
Al 2,450
gtz 2R 6,000
= 3,900
= 1,050
Al 1,050

308 AHXIEHHISOIE 6,109,716 5,692,353 417,363
= 3,971,316
= 1,069,200
Al 1,069,200

13 SIS0 U etE 4 HAE ALY 6,109,716 5,692,353 417,363
0-2M SR0I2E= 6,109,716
= 3,971,316
& 1,069,200
Al 1,069,200

3-5A1 =2ltd K& 2,105,271 2,097,915 7,356
= 2,105,271

301 LBtE2NS 214,480 231,980 217,500
& 214,480

14 JIEt2d= 214,480 231,980 A17,500
3-5A =eltE F2uA ML 214,480
& 214,480

307 212t01 ™ 485,965 352,756 133,209
= 485,965

10 AlRIS XA EEE 2SI 2 X 313,765 352,756 38,991
3-5AM1 el 2aHl A 313,765
= 313,765

T ARRISXIAIEE X 172,200 0 172,200
4-5M Fel2F8 FIHIE 172,200
& 172,200

308 AHXIEHHISOIE 1,404,826 1,513,179 108,353
& 1,404,826

13 SIS0 U etE &M AE ALY 1,404,826 1,513,179 108,353
35M Felitd 258 A& 1,404,826
= 1,404,826

WA elAd X 4,257,595 2,485,016 1,772,579
= 2,128,796
& 1,064,399
Al 1,064,400

301 LetE2d= 49,500 49,500 0
= 24,750
& 12,375




L oIERR D
HEIE & BS
==NE £8 (Crol: z2)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 12,375
14 JIEt2d= 49,500 49,500 0
ZO0HOts WAL =& XI& 49,500
= 24,750
& 12,375
Al 12,375
307 212t01 ™ 4,208,095 2,435,516 1,772,579
= 2,104,046
& 1,062,024
Al 1,052,025
11 AMBISAIAMEE X 4,208,095 2,435,516 1,772,579
SFWAA A XA 4,208,095
= 2,104,046
& 1,062,024
Al 1,052,025
SEUANE MM XA 754,822 680, 155 74,667
= 377,410
& 188,706
Al 188,706
301 LBtE2NS 754,822 680, 155 74,667
= 377,410
= 188,706
Al 188,706
14 JIEt2d= 754,822 680, 155 74,667
SHEES WA SE224E 118,495
= 59,247
= 29,624
Al 29,624
WARZS 228l & SHAEX 636,327
= 318,163
= 159,082
Al 159,082
SXRWAL HHA XIS 1,481,018 1,336, 146 144,872
= 740,508
= 370,255
Al 370,255
307 212t01 ™ 1,481,018 1,336, 146 144,872
= 740,508
& 370,255
Al 370,255
11 MBS XM 2 1,481,018 1,336, 146 144,872
SE(MF) WAL XA 1,308,791
= 654,395




SA: SN
g ol 3 2
2e 2SN 28 (Ctol:®2l)
SA - = - S9I(EH) - MRA e Gl HImS2
& 327,198
Al 327,198
CHMImAF X1 172,227
= 86,113
& 43,057
Al 43,057
AIZEH 2] AEIA KIS X2 87,766 88,940 A1,174
= 43,883
< 13,165
Al 30,718
301 LetE2d= 5,600 4,320 1,280
= 2,800
= 840
Al 1,960
14 JIEt2d= 5,600 4,320 1,280
AZHHIES S8 uAL =& 5,600
= 2,800
= 840
Al 1,960
307 2I2t01™ 68, 166 69,565 A1,399
= 34,083
= 10,225
Al 23,858
11 ARISXAIAMEELS 68, 166 69,565 A1,399
AZERIESAE 2l2d] & 24| 68, 166
= 34,083
& 10,225
Al 23,858
308 AHXIEHHISOIE 14,000 15,065 A1,055
= 7,000
& 2,100
Al 4,900
13 SISOt S4HAS A 14,000 15,005 21,085
AZHH E== 14,000
= 7,000
& 2,100
Al 4,900
oelold stZoie 38,000 366,404 A\328,404
= 19,000
& 9,500
Al 9,500
402 BIZtAH=01 M 38,000 366,404 A\328,404
= 19,000




2AM:

JHESXIA L

B OIS UL 28
ol EFAE 29 (cro): =2l
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
< 9,500
Al 9,500
02 QIZEXHEAIE 2 (01X TH) 38,000 366,404 A\328,404
OE0IE JIsEZOE=, ZHIdl) 38,000
s 19,000
= 9,500
Al 9,500
25 S=AE A 4,214,211 3,219,386 994,825
< 1,264,263
Al 2,949,948
301 LEIEES 637,200 505, 110 132,090
= 191,160
Al 446,040
14 JIEtE 8= 637,200 505,110 132,090
O2lold EsudE 22+ A& 620,400
= 186,120
Al 434,280
oHot 25 =24 K& 16,800
< 5,040
Al 11,760
307 212+0|& 2,967,703 2,305,456 662,247
= 890,311
Al 2,077,392
11 ARISXIMEEE 2,967,703 2,305,456 662,247
KEAE KOt WAL 124H] XIR 809,280
= 242,784
Al 566,496
oelold Es=<01 X 514,070
< 154,221
Al 359,849
=0t S2AlHl X1 177,412
= 53,223
Al 124,189
ZOHOtE 2 02018 XtEetE =0l XA 13,074
= 3,922
Al 9,152
ZOHOtE 2 20l xt&E=2Zdl X 7,800
< 2,340
Al 5,460
S3E 02018 WUsSZHadl XA 397,800
= 119,340
Al 278,460
0glold 223l X3 709,650




M OEEXE

Ji

: olelE o =R
el 2SN 22 (Cro: ®ol)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
< 212,8%
Al 496,755
ROI=ddsed Z2XE 21,440
& 6,432
Al 15,008
S 02018 X ER0] K& 104,592
= 31,378
Al 73,214
30210lot ~720{l01d 23| XI& 194,085
& 58,226
Al 135,859
gotgt WsSZIHAEl X3 18,500
= 5,550
Al 12,950
308 AHXIEHHISOIE 609,308 408,820 200,488
= 182,792
Al 426,516
13 SIS0 U etE &4 X AE ALY 609,308 408,820 200,488
Oelold XMHHEFE X2 609,308
& 182,792
Al 426,516
S380elold X3 479,151 402,000 77,151
= 311,448
Al 167,703
307 2I2t01 ™ 479,151 402,000 77,151
= 311,448
Al 167,703
11 ARRISAIAMEELS 479,151 402,000 77,151
SSEoe0™ XA 479,151
& 311,448
Al 167,703
SIS 365x24 012018 29 184,000 0 184,000
& 92,000
Al 92,000
301 LBtE2NS 20,040 0 20,040
= 10,020
Al 10,020
14 JIEt2d= 20,040 0 20,040
Y o GEUA = 20,040
= 10,020
Al 10,020
307 2I2+0| ™ 163,960 0 163,960
& 81,980




2AM:

.

Db 2Dt
CEEpI=g

X EF
2IAE =29

Rk (Ctol: M2))
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Al 81,980
1 ARRISAIAMEELS 163,960 0 163,960
el & 288l, 258 163,960
= 81,980
Al 81,980
odo=E 1,577,000 1,596,000 A19,000
= 439,000
< 71,500
Al 1,066,500
4y 2 X2 1,577,000 1,596,000 219,000
= 439,000
= 71,500
Al 1,066,500
Rotg olEd N 677,000 696,000 A19,000
= 439,000
= 71,500
Al 166,500
301 Et2AS 2,000 694,000 692,000
= 1,300
& 210
Al 490
01 ARRIEZE4FS (R NEXTHE) 2,000 694,000 A692,000
Hotg olgd X (E3) 2,000
= 1,300
& 210
Al 490
308 MAIHHSOIH 675,000 2,000 673,000
= 437,700
& 71,290
Al 166,010
13 SISO o4HAS A 675,000 2,000 673,000
Hord ol8d X (H<H) 675,000
= 437,700
& 71,290
Al 166,010
SME SN 900,000 900,000 0
301 LetE2d= 900,000 900,000 0
03 ALBI 2 EE 46lIS (XILTHS) 900,000 900,000 0
ENMEFAES 900,000
Fad 25 & |4 1,588,482 1,745,168 156,686
= 48,102
Jl 215,286
< 97,222




2A: JOEEXE D

Bo: AW 25 U 84
©e: Had 25 2 g & X3 (cHol: M)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Al 1,227,872
AW B3 9 g = X2 800,605 775,349 25,256
= 48,102
| 215,286
& 97,222
Al 439,99
HAE g otdI0l 22 110,222 134,642 A24,420
| 55,111
& 27,555
Al 27,556
101 @I244| 18,600 22,360 A3,760
| 9,300
= 4,650
Al 4,650
03 SR (RINHY)2Z2RE 18,600 22,360 A3,760
2= OO0l SRE(29) 1| 18,600
| 9,300
= 4,650
Al 4,650
201 LE23H| 60,300 75,392 215,092
| 30,150
= 15,075
Al 15,075
01 At22teld| 59,000 74,060 A 15,060
OBHHIOI MR ZIRIHI(RZAR, H2HE
2=, 2AHl S) 59,000
| 29,500
= 14,750
Al 14,750
02 2223H| 1,300 1,332 A32
OBtOI0I S&2%HI 1,300
| 650
= 325
Al 325
202 44| 500 1,000 A500
| 250
= 125
Al 125
01 =LHOAHI 500 1,000 A500
OLZHCI0I 204! 500
| 250
= 125
Al 125
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2AM:

Hu: HAA 25 U 54
el AW 85 Y Y@ F X CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
04 CIZIHALAIRIE T 23,000 23,000 0
U0 & AL 15,000
HAEIILHM 8,000
11 MaI=XAIEES 10,000 10,000 0
dAadsdgs X 10,000
HAE S0 A2 15,000 15,000 0
307 212t01™ 15,000 15,000
11 MaI=XAIEES 15,000 15,000 0
EAE HSEH0E K& 15,000
a8 s A 3,733 3,733 0
= 1,120
Al 2,613
307 212t01 & 3,733 3,733 0
& 1,120
Al 2,613
11 MaI=XAIEES 3,733 3,733 0
HrE pBS X 3,733
& 1,120
Al 2,613
Y HAad #2007 2E(HLAE HOHAIAS) 2,000 0 2,000
= 600
Al 1,400
307 212t01& 2,000 0 2,000
= 600
Al 1,400
11 AISI S XA E S 2,000 0 2,000
HALAHEHRARS 2,000
& 600
Al 1,400
HAET T AL BIXIXIR (HAESAE XIS A BIX] X 26,320 25,368 952
2IAL)
| 7,896
Al 18,424
307 212t01& 26,320 25,368 952
| 7,896
Al 18,424
11 AISIS XA E S 26,320 25,368 952
QI124H| 26,320
| 7,8%
Al 18,424
HAESEAYE SAK HRIH&HI 15,840 15,540 300
& 4,752
Al 11,088




2AM:

Hu: HAA 25 U 54
el AW 85 Y Y@ F X CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
307 212t01 & 15,840 15,540 300
= 4,752
Al 11,088
11 AISIS XA E S 15,840 15,540 300
HAESEAE SAK HLINEH] 15,840
& 4,752
Al 11,088
HAERoHEE A 25 KR 6,000 2,700 3,300
= 1,500
& 3,000
Al 1,500
307 212t01™ 6,000 2,700 3,300
= 1,500
= 3,000
Al 1,500
11 AISIS XA E S 6,000 2,700 3,300
HaERoSHE2AIE X 6,000
= 1,500
= 3,000
Al 1,500
FLERONEE ZAIE &85 EX 23,000 23,000
307 212t01& 23,000 23,000
11 AISIS XA E S 23,000 23,000 0
FAERMNEE 2AIE @3 B2 23,000
SuEs H2ArY 5,000 5,000 0
307 212t01™ 5,000 5,000
11 MaI=XAIEES 5,000 5,000 0
StWES KA 5,000
PO a4 X2 5,000 5,000 0
307 212t01& 5,000 5,000
11 AISIS XA E S 5,000 5,000
FOOHE #4438 K& T2 5,000
HAHMSSIME 28 XA (oM Y) 138,460 136, 166 2,294
| 69,230
Al 69,230
307 212t01™ 138,460 136, 166 2,294
| 69,230
Al 69,230
11 MaI=XAIEES 138,460 136, 166 2,294
HAE orMal HSale| 2elY 29 138,460
| 69,230
Al 69,230




2AM:

Hu: HAA 25 U 54
el HAd 85 2 ¢ & (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
201 EAE X (HAHANYSETHE AF 15,857 12,667 2,890
& 4,667
Al 10,890
307 2I2+0| ™ 15,557 12,667 2,890
= 4,667
Al 10,890
11 ARRISXAIAMEELS 15,857 12,667 2,890
Frddg=sAdH 16,557
= 4,667
Al 10,890
0 FAE X2 (BAEHAE AHAF X 2IHA 10,800 10,680 120
bl)
& 3,240
Al 7,560
307 2I2+0| ™ 10,800 10,680 120
& 3,240
Al 7,560
11 AMBISAIAMEE X 10,800 10,680 120
HLHMESAHE SAH X <LIHEH| 10,800
= 3,240
Al 7,560
Ols A 0se=s X 9,000 9,000 0
& 2,700
Al 6,300
307 2I2+0| ™ 9,000 9,000 0
& 2,700
Al 6,300
11 MBS XM 2 X 9,000 9,000 0
Ots - E4d 0S¥ 9,000
= 2,700
Al 6,300
AESUA T2 24,528 24,020 508
Jl 12,264
= 3,679
Al 8,585
307 2I2t01™ 24,528 24,020 508
Jl 12,264
& 3,679
Al 8,585
11 ARRISXIAMEEES 24,528 24,020 508
HAESUA At 24,528
Jl 12,264
& 3,679




2AM:

I HAL 25 U B4
S HAad B 2 g & XJ (cHol: M)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
| Al 8,585
st g FaE XA 90,721 88,643 2,078
| 63,505
Al 27,216
307 SI2t01 & 90,721 88,643 2,078
| 63,505
Al 27,216
11 MI=EXAIEER 90,721 88,643 2,078
st 9 Fad XA 90,721
| 63,505
Al 27,216
st 8 A X2(24) 17,814 17,710 104
= 7,122
= 3,570
Al 7,122
307 QI2H0| M 17,814 17,710 104
= 7,122
= 3,570
Al 7,122
11 MI=EXAIEES 17,814 17,710 104
&t gt HAad SAXJA(NEEH) 17,814
= 7,122
& 3,570
Al 7,122
Dl HAE X (8w & HFAEX2HE AIGE 18,000 18,000 0
= 5,400
Al 12,600
307 QI2H0| M 18,000 18,000 0
& 5,400
Al 12,600
11 MaI=XAIEES 18,000 18,000 0
St 5 HFAEXJAMEH AtE =& 18,000
& 5,400
Al 12,600
| Had XA & FAE NAASIHE) 37,200 26,800 10,400
= 17,150
Al 20,050
307 QI2H0| M 37,200 26,800 10,400
= 17,150
Al 20,050
11 MII=XAIEER 37,200 26,800 10,400
s 8 HAE MAASIHE 37,200
& 17,150




2A: JOEEXE D

Hu: HAA 25 U 54
el AW 85 Y Y@ F X CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| Al 20,050
F44d SEXE MY 10,400 10,400 0
Jl 7,280
Al 3,120
301 Et2AS 10,400 10,400 0
Jl 7,280
Al 3,120
01 ALRIE2EE 4GS (SREXTHE) 10,400 10,400 0
a2l SEXA 10,400
7l 7,280
Al 3,120
FAEAZ N2 78,960 67,680 11,280
= 39,480
< 11,844
Al 27,636
308 MAIHSOIH 78,960 67,680 11,280
= 39,480
< 11,844
Al 27,636
13 SISO A4HAS A 78,960 67,680 11,280
MNAS {8EAE UES X2 78,960
= 39,480
= 11,844
Al 27,636
HaddAd 2AAYES LXK 14,400 9,600 4,800
& 4,320
Al 10,080
201 Let23| 14,400 9,600 4,800
= 4,320
Al 10,080
01 At22tel] 14,400 9,600 4,800
SHAYES 7Y 14,400
= 4,320
Al 10,080
)Ilg'\ HAE F0DIF 2E(BaESEAE 223 2,000 0 2,000
307 2I2+0| ™ 2,000 0 2,000
11 ARISXIMEEES 2,000 0 2,000
FadEAd 2223 2,000
a4l JAAHY FAS K2 7,250 0 7,250
= 3,625
Al 3,625
307 2I2t01 7,250 0 7,250
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2AM:
X{XH -
o /e

cH):

Jo

i3]

dEE
Ofl &b oK

H

Al

536,677
536,677

H

Al

406,860
203,430
203,430

831,978

A425,118

H

Al

406,860
203,430
203,430

831,978

A425,118

H

406,860
406,860
203,430
203,430

831,978

A425,118

Mo

=

583,442
408,409

52,510
122,523

497,568

85,874

Mo

=

583,442
408,409

52,510
122,523

497,568

85,874

Mo

583,442
583,442
408,409

52,510
122,523

497,568

85,874

Il

H

Al

—_

,826,040

109,562
191,734

,524,744

1,964,781

A138,741

H

Al

—_

e

,826,040

109,562
191,734

,524,744

1,964,781

138,741

H

Al

—_

,826,040
,826,040

109,562
191,734

,524,744

1,964,781

138,741

H

359,998
359,998

405,000

245,002

H

359,998
359,998

405,000

45,002

359,998

405,000

45,002




2AM:
X{XH -
o /e

cH):

X 0
H
fo

HEE

SA BB S2(3) - HIRAR - BAS e e b D2
s E.4.554 24Ul N2 359,998
& 359,998
012l01=018 224l 8,000 10,000 A2,000
201 €etE3h| 8,000 10,000 A2,000
02 E==4H| 8,000 10,000 A2,000
Oiel0l=0IE 2= 8,000
Oeloled A 66,120 60,000 6,120
201 et23| 64,120 58,000 6,120
01 Al 22| 9,120 3,000 6,120
HIW & JHSEFY S 3,000
HAE K=3H| 6,120
03 &A=& 55,000 55,000 0
Oi2l0le dALESHl S 55,000
301 LetE2d= 2,000 2,000 0
11 AAEIXIES 2,000 2,000 0
AHESAHL =] 8,000 %250H 2,000
OtSZlet Aty 13,000 13,000 0
201 €et23| 13,000 13,000 0
01 Al 22| 3,000 3,000 0
OISR LAY
60,0002 +502] 3,000
03 &A=& 10,000 10,000 0
020l FaE ZMe0te 10,000
Ots a4 232d 12,000 12,000 0
201 Let23| 12,000 12,000 0
01 Al 22| 2,000 2,000 0
28t =l 2,000
03 A2 10,000 10,000 0
FOs € WK 10,000
CHEN =S A 375,432 317,512 57,920
z 187,716
& 93,858
Al 93,858
307 2I2+0|™ 375,432 317,512 57,920
z 187,716
& 93,858
Al 93,858
10 AlRISTANZEE 232X 375,432 317,512 57,920
Cten SsSdE 12| 375,432
= 187,716
& 93,858
Al 93,858




2A: JIEEXI&
I FHUHE OIS 25
gel: Ols=sX S8 CEEEN
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
CHEtHl S34Ie 2981 X1 60,000 52,000 8,000
= 30,000
& 15,000
Al 15,000
307 SI2t01 & 60,000 52,000 8,000
= 30,000
& 15,000
Al 15,000
10 AR SXNAIEEE2IHIE X 60,000 52,000 8,000
CretNssdy 249d| XI& 60,000
= 30,000
& 15,000
Al 15,000
CHEHESHE 29 (XHA) 158,900 143,860 15,040
201 L2 3| 8,500 8,500 0
01 At22t2ld| 8,500 8,500 0
2et =&l 150,000 *23] 300
MY LXZ 7,000
80|35 EaaG 100,000 *6Z*23] 1,200
307 QI2H0| M 150,400 135,360 15,040
11 MII=EXAIEER 150,400 135,360 15,040
CElssdlH 29 150,400
=2l 4,000 +23H*5I Ax250L 115,000
-2 2| 300,0002+57H A5 12 18,000
-SAR M=%
290,000 &5 2+ 128 17,400
S 2ELSSAY 843 180,990 146,520 34,470
& 90,495
Al 90,495
307 SI2t01 & 180,990 146,520 34,470
& 90,495
Al 90,495
11 MaI=XAIEES 180,990 146,520 34,470
EHE 22 ISl =2 180,990
—-Abdt| 119,800
= 59,900
Al 59,900
—-QI24H| 55,200
& 27,600
Al 27,600
-2%H| 5,990
= 2,995
Al 2,995




SN ISR
3 FHYAS Ot B2
el OlssAl Sd (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Ae=HEE e 72,000 72,000 0
= 50,400
= 6,480
Al 15,120
301 Et2AS 72,000 72,000 0
= 50,400
= 6,480
Al 15,120
01 AR 2E X3S (FLEXTHE) 72,000 72,000 0
A=y Nese
500,000& 12+ 122 72,000
= 50,400
= 6,480
Al 15,120
Yeaots 2= X 6,000 6,000 0
= 4,200
= 540
Al 1,260
301 Et2MS 6,000 6,000 0
= 4,200
& 540
Al 1,260
01 AFRIEZE4FS (R NEXTHE) 6,000 6,000 0
LLUHA0ts 28|
1,000,000~ 1862 6,000
= 4,200
& 540
Al 1,260
gots IS 52,800 51,000 1,800
Jl 36,960
& 4,752
Al 11,088
301 LBtE2NS 52,800 51,000 1,800
Jl 36,960
& 4,752
Al 11,088
01 ARRIEZE4FS (R NEXTHE) 52,800 51,000 1,800
OIS YRAY
200,000& x22& 122 52,800
7l 36,960
& 4,752
Al 11,088
Ae=HEaE MEEEs 70,000 60,000 10,000
& 21,000




SM: ISR
M oS OIS 25
gel: Ols=sX S8 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
Al 49,000
301 LBHEXZ 70,000 60,000 10,000
< 21,000
Al 49,000
02 MBIEZELHS(HAAS, XILH) 70,000 60,000 10,000
Nz EE HEE2
10,000,000 +7 70,000
[ 21,000
Al 49,000
E5E20tS (JSHMEIENE X 6,000 6,000 0
[ 1,800
Al 4,200
EIEECEE] 6,000 6,000 0
< 1,800
Al 4,200
02 MBIEZEHAHS(HAHS, XILHH) 6,000 6,000 0
CHetMEorE T3 2,000,000 *3H 6,000
< 1,800
Al 4,200
HS0=25H| A 12,000 27,000 15,000
2 8,400
< 1,080
Al 2,520
301 LBtEXZ 12,000 27,000 15,000
2 8,400
< 1,080
Al 2,520
01 AFBIEZEHAH2(BDEXTHL) 12,000 27,000 15,000
M90S BSH|
1,000,0008* 12+ 128 12,000
2 8,400
< 1,080
Al 2,520
IHESIE g5 90,000 108,000 18,000
301 YBtEXZ 90,000 108,000 18,000
02 ABIEEEAH2(HAHS, XILHH) 90,000 108,000 18,000
IESIE g5
300,000 x252*12JH 2 90,000
SIMZL 365X24 Ot=SE X2 87,084 0 87,084
[ 43,542
Al 43,542
307 EI2+0| & 87,084 0 87,084
< 43,542




2AM:
X{XH -
o /e

cH):

X 0
H
fo

S B SRI(BH) - HRAY - BAS

PIE]=>
e

Al

43,542

10 AlISXAAEEE2SEHIEX

365+24 Ots=3

H

=

87,084
87,084
43,542
43,542

87,084

OlsEXIAE XKIZ

oW

=

4,420,108
5,320
590,610
738,158
3,086,020

4,089,387

330,721

SRR

=

125,424
62,712
18,814
43,898

53,962

71,462

101 21244

Mo

=

125,424
62,712
18,814
43,898

53,962

71,462

Mo

125,424
125,424
62,712
18,814
43,898

53,962

71,462

OFSE XA IHA X2 (KHAD)

39,759

38,580

1,179

101 &

e

38,959

37,780

1,179
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p=]
Loon 0

Jit 0
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El
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|
om ox

Yo 0
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00 0
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38,959
38,959
18,533
12,480
1,800
2,046
4,100

37,780

1,179

202 044l

800

800

01 2O

E804I

800
800

800

ASG0otsHE! 249 X

SRR

=

158,088
79,044
23,713
55,331

158,088

307 212+01&

SRR

158,088
79,044
23,713
55,331

158,088




2A: JIEEXI&
I FHOUHE OIS 25
ool Ol SSXAIE X2 CEREERD
S - B - 9(30) - HRAKY - BES oAk e HlmS2t
11 MaI=XAIEES 158,088 158,088 0
XN SotsHyH 2] K& 158,088
s 79,044
& 23,713
Al 55,331
XNE0otsdy el XI& 897,708 754,962 142,746
s 448,854
& 134,656
Al 314,198
307 212t01™ 897,708 754,962 142,746
s 448,854
& 134,656
Al 314,198
11 MaI=XAIEEX 897,708 754,962 142,746
XN SotsHly elAdd] K& 897,708
s 448,854
= 134,656
Al 314,198
KISH0otsSHE XIA(ZHI) 39,540 39,540 0
& 7,908
Al 31,632
307 212t01™ 39,540 39,540 0
& 7,908
Al 31,632
11 MaI=XAIEES 39,540 39,540 0
KOS HIE XIA(ZHI) 39,540
= 7,908
Al 31,632
NE0tsHE SAZEelAb X~ 54,000 54,000 0
307 212t01 & 54,000 54,000 0
TN EES 54,000 54,000
XIS{OISHIEl SAIZ2IA NI
500,000 *QH 2+ 12 54,000
XSOotSHE XI&(RHA) 15,800 15,800 0
307 212to1™ 15,800 15,800 0
11 MaI=XAIEEX 15,800 15,800
N SotsHy Ag MU 5,000
NGotsHEy T2 2
100, 0002+ A% 123 10,800
Ots=XIAIE QlAH| =LK 216,007 142,457 73,550
& 64,802
Al 151,205
307 212t01™ 216,007 142,457 73,550




SAM I
I FHOUHE OIS 25
ool Ol SSXAIE X2 CEREERD
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
& 64,802
Al 151,205
11 ARRISXIMEEES 216,007 142,457 73,550
KISotSHIE lA4H| F=IHXIE 216,007
& 64,802
Al 151,205
OlSESSAIE SAEL MRI4EHI 53,280 124,350 AT71,070
= 15,984
Al 37,296
307 212t01 ™ 53,280 124,350 AT71,070
= 15,984
Al 37,296
10 ASISAANEHE2EEIEX 51,480 124,350 NT2,870
OLSESSAE SAAL XMRI4EHI 51,480
< 16,444
Al 36,036
11 AMBISAIAMEE X 1,800 0 1,800
OlSSSAIE SAHL MRS 1,800
= 540
Al 1,260
OlSSSAIE AL EAZAHI 26,880 56,280 229,400
= 8,064
Al 18,816
307 2I2t01 ™ 26,880 56,280 229,400
& 8,064
Al 18,816
10 AlRIS XA EEE 282X 26,040 56,280 230,240
OlSSSAIE SALA EAsAlHl NI 26,040
& 7,812
Al 18,228
11 ARRISAIAMEELS 840 0 840
OlSSSAIE SAH HAz 4| X 840
= 252
Al 588
dAHE0tS XS 7,600 7,600 0
= 5,320
LS 684
Al 1,596
307 2I2t01 ™ 7,600 7,600 0
= 5,320
LS 684
Al 1,596
11 ARRISAIAMEELS 7,600 7,600 0




2A: JOEEXE D
I FHOUHE OIS 25
S OlS=XAIL X8 (cio) msl)
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
A Xsots A 7,600
= 5,320
S 684
Al 1,596
Ols=EXIAE2S 2,469,820 2,432,483 37,337
< 370,473
Al 2,099,347
307 212t0l& 2,469,820 2,432,483 37,337
< 370,473
Al 2,099,347
10 AFRISXIAIEEE2ZHIEE 2,469,820 2,432,483 37,337
Ols2=AIE 22| 2,469,820
= 370,473
Al 2,099,347
(2= INUNF=EININIPSEY) Falall 86,520 0 86,520
= 25,956
Al 60,564
307 212+0|& 86,520 0 86,520
= 25,956
Al 60,564
10 AFRISXIAIEEE2ZHIEE 86,520 0 86,520
OlsSLSAIE SAEAL MRINEHI 86,520
= 25,956
Al 60,564
OIS XIAIES AL HHg Al 36,960 0 36,960
= 11,088
Al 25,872
307 212t01& 36,960 0 36,960
< 11,088
Al 25,872
10 ABISXIANEHE2EHI2X 36,960 0 36,960
OlSLSAIE SAHAL ZUSAHI 36,960
< 11,088
Al 25,872
Olsdgerd T 88,604 89,612 /1,008
= 26,581
Al 62,023
301 LN S 16,560 20,880 N4,320
= 4,968
Al 11,592
02 AR 2EXGIZ(FLHS, KLHRA) 16,560 20,880 N4,320
JHERIE B34l It
60,0003 «23H 123! 16,560




2A: JOEEXE D
I FHOUHE OIS 25
S OlS=XAIL X8 (cio) msl)
SN BB BRI(E) - HIRAY - B Ot Gl HIRE2
< 4,968
Al 11,592
307 212t0l& 72,044 68,732 3,312
= 21,613
Al 50,431
11 AlSISXIAMEE X 72,044 68,732 3,312
Olsaigots X3 (2H) 72,044
= 21,613
Al 50,431
orsstsed N 67,268 70,273 A3,005
< 20,180
Al 47,088
307 212t0l& 67,268 70,273 23,005
< 20,180
Al 47,088
11 AlSISXIAMSEE X 67,268 70,273 A3,005
OlsSEt&SEHE NI (Z) 67,268
= 20,180
Al 47,088
OrsEAMEY X3 30,850 31,000 A150
= 9,255
Al 21,59
307 212t01& 30,850 31,000 A150
= 9,255
Al 21,59
11 AlSISXIAMSE xR 30,850 31,000 A150
OlSEMEY X3 (ZH) 30,850
= 9,255
Al 21,59
OlS2A=FAIE SAHL €8s T2 6,000 6,000 0
307 212t01& 6,000 6,000 0
02 RIRHEAIAHE R 6,000 6,000
SAG 28 6,000
Ols&i B33 At XI& 107,800 103,900 3,900
s 62,928
= 4,720
Al 40,152
Otssll 233 MY X~ 29,140 27,140 2,000
101 2244 14,140 14,140 0
03 SRE(PINHY) 22 RE S 14,140 14,140 0
Ol=SSH SESHAIY IAHI(S2A) 14,140
&= 6,700




M JEEXIE
I FHUHE OIS 25
TPl OISSIf 323 Al X2 (chol m=)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
-SA4NEY 2,960
-AZte|=g 2,680
-AXtr 1,800
201 et 3| 2,000 2,000
01 AtR2elt] 2,000 0 2,000
Otssitf ol =2 2,000
202 44| 5,000 5,000 0
01 =LHOAHI 5,000 5,000
ESZ0LI 5,000
301 et Z 5,000 5,000
03 MBI BEX252(XILTHA) 5,000 5,000
SHHIIoHOts 2 AIES A 5,000
307 212t01™ 3,000 3,000 0
01 2z & 3=H| 3,000 3,000 0
SIHTIGH(2IA))ots XIZHI L ZAH] 3,000
OtsE2sdY 78,660 76,760 1,900
s 62,928
& 4,720
Al 11,012
101 @I244| 68,660 66,760 1,900
s 54,928
= 4,120
Al 9,612
03 SR (RINHY)2Z2RE= 68,660 66,760 1,900
Ol=E3dEREA 68,660
s 54,928
= 4,120
Al 9,612
201 LE23H| 7,000 7,000 0
s 5,600
= 420
Al 980
01 At22teld| 7,000 7,000 0
1222l 7,000
s 5,600
= 420
Al 980
301 et Z 1,000 1,000 0
s 800
= 60
Al 140
01 MBIBEE G2 (2 NEXTHR) 1,000 1,000 0




2AM:
X{XH -
o /e

cH):

JEXIA1L
FHAANS Ots B3
Otssiti 333+ At XI&

HEE

SN - HEY - SRI(EH) - KIRAE - B Ofl st e HIDE2

2sidols 22=3 N2 1,000
s 800
= 60
Al 140

307 eI2to| ™ 2,000 2,000 0
s 1,600
= 120
Al 280

01 2= & 2[=H| 2,000 2,000 0
23S0ts XIZHl L HAHI 2,000
s 1,600
= 120
Al 280

OlSS=X(EZAEE) 418,410 424,840 26,430
s 286,568
= 21,492
Al 110,350

NS SEAEE SEAtd2e N 358,210 364,640 26,430
s 286,568
< 21,492
Al 50,150

101 el24d| 171,360 166,440 4,920
s 137,088
< 10,281
Al 23,991

03 SRA(RIHA) 22X 2= 139,000 166,440 N27,440
OtSSEAtIZ2IAL 139,000
s 111,200
< 8,340
Al 19,460

04 JIZtH22 XS E= 32,360 0 32,360
Ot=SSEAtHIZ2IAL 32,360
s 25,888
< 1,941
Al 4,531

201 LBt2 | 105,000 119,200 214,200
[ 84,000
< 6,300
Al 14,700

01 At2t2lH] 57,000 73,200 216,200
2o ¥ T2l S 57,000
s 45,600
= 3,420




2AM:
X{XH -
o /e

cH):

dEE
Ofl &b oK

SRR

=

SRR

=

7,980
6,000
6,000
4,800

360

42,000
42,000
33,600
2,520
5,880

6,000

40,000

2,000

202 Oidl

SRR

=

4,000
3,200
240
560

4,000

01 2O

=Z0H S

SRR

=

4,000
4,000
3,200
240
560

4,000

SRR

=

57,000
45,600
3,420
7,980

55,000

2,000

SRR

=

SRR

=

42,000
42,000
33,600
2,520
5,880
15,000
15,000
12,000
900
2,100

40,000

15,000

2,000

307 212+0|&

SRRES

=

20,850
16,680
1,251
2,919

20,000

850

01 9=

2 pte

=)
ol

Wo M
p=]
on i

Mo

20,850
20,850
16,680
1,251
2,919

20,000

850
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